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A EAID
BE: CANS(RELXANL/ XN LUEAI)
Sl TAIEIAE (Sr9): @)
SA - FH .2 (32) - MIRAIY - BAS 0 Aok plE-L AImE=ST
S A 15,812,704 9,524,198 6,288,506
s 2,483,000 1,483,000 1,000,000
Il 10,000 0 10,000
< 335,000 165,000 170,000
Al 12,984,704 7,876,198 5,108,506
SANS(SELXGNL/XHLEAI) 14,168,061 8,954,327 5,213,734
s 2,483,000 1,483,000 1,000,000
= 332,000 165,000 167,000
Al 11,353,061 7,306,327 4,046,734
SAIA= S 2,640,778 2,643,618 A2,840
SAIHE 2] 2,607,955 2,610,795 A2,840
202 Oid| 17,49 19,440 A1,944
01 =LHOALI 17,496 19,440 A1,944
OZARISR FQAIF 942 S7(04EY)
23 17,49,000& 17,49 19,440 A1,944
203 SBRF&| 8,059 8,955 A8B
03 AIBF=AHR=LIH| 8,059 8,955 N\896
OFEQAIE BOHAIY SX(04E)
AT 1,684,002 1,684 1,980 £29%6
OIEHLHE 4R =X (0AEY)
Z2& 1,450,000 1,450 1,650 200
ORISHLAIS ZZI (0l A2t
2 1,450,000 1,450 1,650 A200
OFADHZARR! ZZI (02t
2& 1,450,000 1,450 1,650 A200
SADIBES 4,998,999 3,409,899 1,589,100
B EEESE 3,480,000 2,465,000 1,015,000
401 A EZHIZ=HH| 3,480,000 2,465,000 1,015,000
01 A&t 3,462,702 2,447,702 1,015,000
OBIIg N2l TANHT2(53-25) LB A
ZH 850,950 * 1,000m * 99.37/100 845,590 695,590 150,000
OASIHAEIDIE-YZQ A CAHC2
HESA 1,000,000& * 400m 400,000 0 400,000
OIEMZAHIRHAAR] SAIE S 2B A
(B8 TAIEA) 40,000,000& = 14! 40,000 0 40,000
OBIIS 420t 212 T2 HSINSTA
3,000,0002! * 50 150,000 0 150,000
OBJIg AUNITY 012 TAHSTR HABA
23 300,000,000& 300,000 25,000 275,000
SAAE RGN S22t 1,114,165 764,165 350,000
401 AlEHIZL 0| 1,112,165 762,165 350,000
01 Al&HI 1,106,459 756,459 350,000
OfHS PS0I2| FBEYBA
150,000,000& = 14! 150,000 0 150,000
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A A
ZH: CAN(ZELXI N/ N HLTAI)
chel: CADIBEA (Sl &21)
SA - B G(S) - NRAY - BLS 0 Ao plE-E GImE==h
OFSE ANE-Z2=01el2t A H0BAr
200,000& * 250m 50,000 0 50,000
OBHE Lbtx ¢ SDEHZM
50,000,000& * 14| 50,000 0 50,000
OJBE IEX ¢ TIHEZA
250,000& * 200m 50,000 0 50,000
OBHE L2 A 2I3BHIZA
1,000,002 * 50 50,000 0 50,000
CAIZZEY 9,900 11,000 21,100
201 L] 9,900 11,000 21,100
01 AtR2teld 9,900 11,000 21,100
OFIRE(FB, TBEHES, TBOIN) 32
A =Z(0aEZ) 9,900 11,000 21,100
—2| Q&AM =E Z2& 70,0008 * 11¥ = 93 6,930 7,700 AT70
— AP ESE Z& 30,000& * 118 » 93 2,970 3,300 A330
SAIZ AL S22 394,934 169,734 225,200
201 L] 131,120 105,920 25,200
01 AtR2teld] 86,480 61,280 25,200
ORHAL X7 22l 60,660 35,460 25,200
—EIA BA U 240 BB 89
A 50,400,0002! 50,400 25,200 25,200
401 A EBIL 2] 256,000 56,000 200,000
01 Al&HI 256,000 56,000 200,000
O3l el S2IYIBA
200,000,000& 14! 200,000 0 200,000
CIXel2te] 2,933,028 1,544,378 1,388,650
= 907,000 907,000 0
< 90,000 90,000 0
Al 1,936,028 547,378 1,388,650
CIXrel2te| 441,028 337,378 103,650
201 Le+2HH| 78,250 4,600 73,650
01 AtR2teld] 12,650 1,800 10,850
OSSR (AF) QIZHER2IE 3 &A & 12,650 1,800 10,850
—glolgsag
A 70,0002 * 112 » 12 « 82 6. 160 840 5,320
~NERESY
Z& 30,0008 » 11H » 124 ~ 83 2,640 360 2,280
—nEH| Z& 30,0008 » 11H » 1€ ~ 73 2,310 360 1,950
—41 Hl Z& 20,0008 » 11H » 12 « 73 1,540 240 1,300
02 2324 60,600 2,800 57,800
OBB23(HI],+=5) 60,600 2,800 57,800
—§CS0IE 22 XS 8,000,008 + 7 56,000 0 56,000
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X‘liH:

SAID
SADHE(ZEL RN

Sl CIRele (e HR)
SA - ZH - AA(SH) - NIRA - = O AkoH J|HH Hws2t
— 222 BHAIIX SAAIY
300,0002 * 62 1,800 0 1,800
03 ALY 5,000 0 5,000
O3B0IXe! =& x| 5,000,000 * 14 5,000 0 5,000
401 AlASHIZS0H] 30,000 0 30,000
01 AlZHI 30,000 0 30,000
OTAZHAIY AEE SXES
30,000,000 » 14l 30,000 0 30,000
(D)X= QLUSKNA(SKREHE TLAY) 2,192,000 907,000 1,285,000
z2 907,000 907,000 0
Al 1,285,000 0 1,285,000
401 Al&HIL S0 2,192,000 907,000 1,285,000
z2 907,000 907,000 0
Al 1,285,000 0 1,285,000
01 AlZHI 2,192,000 907,000 1,285,000
OBREHE LAY FE 2,192,000,0002 2,192,000 907,000 1,285,000
z 907,000 907,000 0
Al 1,285,000 0 1,285,000
AR 3,595,256 1,356,432 2,238,824
= 1,576,000 576,000 1,000,000
[= 242,000 75,000 167,000
Al 1,777,256 705,432 1,071,824
CAITHA 604,256 532,432 71,824
101 QIAH| 29,149 23,704 5,445
04 JIHN22 RS2 29,149 23,704 5,445
OTATHAXI2HE 2 AIR2 oleel 29,149 23,704 5,445
—g23 4,458,0002 * 14| 4,458 0 4,458
—AlI2I2| 2244
14,1002 * 1% = 10AI12+ = 7€ 987 0 987
201 LBH2YH| 62,253 66,890 N4,637
01 Al22te2i| 41,733 46,370 N4,637
OZ A LA (SFHY) BTRAME
AXIZ (Ol AHEZ) ZH 6,480,000 6,480 7,200 AT20
OTAITHAXI 2 HE 2 (0= 3,276 3,640 N364
—=2AX 3 864,000 864 960 N9B
—ARZ M2 1,980 2,200 2220
- A EY 3E 720,000 720 800 A80
TRIE &Y 3% 720,000 720 800 N80
JIEF #=2l8| & 540,000 540 600 NG|
—JIEt AFR22IHI IE 432,000 432 480 N8
O AITHAAIY JISZ HMIZHH| (0l ArE2E)
& 4,500,000 4,500 5,000 2500
OSAMAME AL SIHEI(0F) FOIOAAMF A2
SNZ(0larEZ) &3 7,200,000& 7,200 8,000 A800




A EAID
B2 CADNL(RELX N/ NSLEAI)
Chelr AT (Sl &8
SA - FH .2 (32) - MIRAIY - BAS 0 Aok plE-L HmE2
OZATMEFIHE & AR=aadsl 23 (o
=22 16,848 18,720 A1,872
—3|o &M (D]2) 23 9,072,000& 9,072 10,080 1,008
—3|oF A (E1) 23 3,888,000 3,888 4,320 N432
—2| S| &A 0| 2 & 3,888,000& 3,888 4,320 N432
OZSI YABFOIE, AsH2Y(HAE) 2,286 2,540 £254
— &0 AT 450,000 450 500 A50
— DR A7 540,009 540 600 280
—JIEF AFS2elH 23 1,296,000 1,296 1,440 A144
OZAIMAME s 2HHI(0AE2) 1,143 1,270 A127
— &= 3& 225,000 225 250 YAVZS)
— W WA= 23 270,000 270 300 A30
—JIEH ARl AT 648,000 648 720 AT2
301 LBBHB 137,504 66,488 71,016
09 HAIMHIXIZZ 1,117 3,225 A2,108
OSAITHASIOl BT AA RIZ(RI BTN A2}
Z2& 202,000& 202 525 A323
OSATHMFEI S MK ASHRBTNH A1)
A 915,002 915 2,700 A1,785
12 JIEtE A= 136,387 63,263 73,124
OZSIt S+ (JE 42)
11,0502 * 12§ * 7AI2H * 222 » 82 13,860 0 13,860
ORCIYIOIE BE+SH(HFAY)
23 53,256,000 53,256 17,752 35,504
OZATHY HEI HELSH(SFAY)
23 35,640,000 35,640 11,880 23,760
(VAN L AL (SAADKE) 1,667,000 0 1,667,000
s 1,000,000 0 1,000,000
= 167,000 0 167,000
Al 500,000 0 500,000
307 g12+ol& 60,000 0 60,000
= 60,000 0 60,000
02 QIZIHAAIEE X 60,000 0 60,000
OUBIetH =S SXZ208 Al X2
60,000,002 * 141 60,000 0 60,000
2 60,000 0 60,000
401 AIEHIYL 01| 1,607,000 0 1,607,000
s 940,000 0 940,000
= 167,000 0 167,000
Al 500,000 0 500,000
01 Al&H] 1,601,214 0 1,601,214
OSKIH SAITHM LAY
1,606,999,000& = 14! » 99.64/100 1,601,214 0 1,601,214
= 940,000 0 940,000
< 167,000 0 167,000
Al 494,214 0 404,214




A EAID
BE: CANS(RELXANL/XNLUEAI)
chol: AT (Sr9): @)
SA - FH .2 (32) - MIRAIY - BAS 0 Aok plE-L AImE=ST
03 Al= = THH| 5,786 0 5,786
OSNIZ CAITHA S A
1,606,999,000& = 14! x 0.36/100 5,786 0 5,786
SANTHESSAL(SEADIXIE) (XEA) 500,000 0 500,000
402 RIFRH=0IH 200,000 0 200,000
03 QIZH?{EFAIHI 200,000 0 200,000
OSSN SATHMSY B NS A (S4)
200,000, i 141 200,000 0 200,000
403 THXISHHSXH=0IH 300,000 300,000
02 ZII2ASUICHE R =S S EA ] 300,000 0 300,000
OGN SAIHMSEY FH XIS3H AR (II)
300,000,000& = 14! 300,000 0 300,000
22| (ZELXNGNL/XNGLEAI) 103,080 105,480 22,400
S)|=28& 2l 103,080 105,480 22,400
=g 103,080 105,480 A2,400
201 LEt2 | 40,680 43,080 A2,400
01 At22teld| 4,320 6,720 22,400
OSHT +TAN 242 (2SY A1)
d3 03 0 2,400 22,400
S =2EF2HA 155,232 169,232 14,000
Z2l(4re] - BAIISUULIR/AATE - D3
S |2EFLHAA L =2 155,232 169,232 14,000
SI)I2FFLHIZEAMS 185,232 169,232 14,000
201 B2 0 14,000 214,000
01 AFR2teld] 0 14,000 14,000
OBIISHEYLX 012 HSBD2(YPEH:
"EXSRX L Z) 23 03 0 4,000 4,000
OZI|2HSUCX| W2 BB} 242(A2
2 UENSIDZ) 328 03 0 10,000 10,000
202 A (SELRISIHL/XSLEAl) 83,933 56,553 27,380
Il 10,000 0 10,000
= 3,000 0 3,000
Al 70,933 56,553 14,380
230 JH| 83,933 56,553 27,380
Il 10,000 0 10,000
= 3,000 0 3,000
Al 70,933 56,563 14,380
1= FHl 63,933 56,553 7,380
201 2| 1,530 1,700 A170
01 At22teld| 1,530 1,700 A170




SH: SAID
M 202 2|(REUXSNL/NALT AN
ool SeZDE B (Sr9: &)
A - B SR(Z) - MRAY - BES Ol &kt JEH Hws2
OZD=TH 5% MR (0AEY)
A% 430,002 430 600 AT70
301 LBBFI 24,520 16,970 7,550
09 EAAEIXRS 0 450 A 450
O ZNSH FH0HI(2SY A1)
23 02 0 450 A450
12 JIEH2 A 24,520 16,520 8,000
ORS SYBIS £HBA3 N3 23,720 15,720 8,000
—HE, MO, YHEFC ) BAS
AT 1008 + 230,000% 23,000 15,000 8,000
(2)ZDSFH| L ARZAAY 20,000 0 20,000
o] 10,000 0 0,000
S 3,000 0 3,000
Al 7,000 0 7,000
401 AlEBILSCHY| 20,000 0 20,000
| 0,000 0 0,000
= 3,000 0 3,000
Al 7,000 0 7,000
01 AIZH] 20,000 0 20,000
OB40i0iHl S2ABDS AL
20,000,002 * 141 20,000 0 20,000
o] 10,000 0 0,000
= 3,000 0 3,000
Al 7,000 0 7,000
SR 2AAHI(TAID) (OIEHIIED 184,980 167,327 17,603
olzi2 et 69,680 39,871 29,809
ol et 69,680 39,871 29,809
101 Q124H] 69,680 39,871 29,809
02 JIErEE S 28,536 0 28,5%
SN SHHXIDHE SHOIRI(AIZHIAAIIR
2k2) 28,536 0 28,53
—J=3 2,859,938% * 1Y 8% 22,880 0 22,880
—bEag 1,120 0 1,120
qTES 40,0002 * 1 8% 320 0 320
JIEHS2, HMAHA)
20,0002 * 2% 8% 320 0 320
STHXHA 60,0002 * 12 » 8% 480 0 480
—AIZFRIAE 9,832 * 198 x 20AI2t * 82 1,574 0 1,574
e 126,870 = 1% « 82 1,015 0 1,015
—Fog Al 140,009 = 1% + 82 1,120 0 1,120
— et A
2,859,9382 * 84% * 86% * 1/30 * 1/7 * 84AI2H 827 0 827
03 PIH S22 4 41,144 39,871 1,273




2 TAID
I HY2HPYI(TAID)(JIEHIIE
el ole2a| (crel:el)
SA - ZH - AA(3) - MIRAY - BHAS Off &boH J 3 Hws2t
EEREE 41,144 39,871 1,273
== B 2,191,2702 » 1Y » 12 26,296 25,580 716
—HESIHI
A 2,191,2702 * 75% * 1% * 23] 3,287 3,198 89
— Al
BE 12,9952 » 150% * 1 = 15A12t » 12& 3,509 3,3% 114
—§2294
A 103,902 * 150% * 1% » 10 1,560 1,509 51
—MXIR3EINSE
2 103,902 * 1% * 15 1,560 1,509 51
—HoHZAl| A 140,000 * 128 1,680 1,560 120
—y244 2,191,270% * 3% * 1 * 23] 132 0 132
J|1=2adl 115,250 127,456 A12,206
J123l 115,250 127,456 A12,206
201 L2 25,151 27,946 N2,7%
01 AFR22IHI 25,151 27,946 N2,7%
OSALZR P (A=) A 3,400,0002 3,400 4,032 1632
OSZ0HAHI (0l AHE2Y) 23 9,000,000& 9,000 10,584 A1,584
OARZ 422/ 9,691 10,270 AS5T79
—=AD| EH(0IAHEZ) A3 1,400,0002 1,400 1,500 A100
—IEIE EH(S8) (A=)
2 4,521,0002 4,521 5,000 N4T9
202 04| 78,246 86,940 A8,6%
01 =404t 78,246 86,940 A\8,6%
OSZAID SR =X ogI(0flatEZ) 78,246 86,940 18,694
—2HA o4l B 54,432,000 54,432 60,480 16,048
— 22| 04H| A 23,814,0002 23,814 26,460 N2,646
203 LRI 6,453 7,170 ATAT
01 J| A2 URFXIH 2,673 2,970 N297
OZAAEZE I H2ILRTTHI (0l arEZ)
23 2,673,000 2,673 2,970 N297
04 PASILLF 3,780 4,200 A420
ORNSYLR2FZHI (0l =)
3,780,000 3,780 4,200 A420
HPES(TAID) (ZELXSIHL/ XL TAI) 1,046, 189 1,046,189
[=RSPNES 1,046, 189 0 1,046,189
BXE 1,046, 189 0 1,046,189
802 ret=D|E 1,046,189 0 1,046, 189
01 2NEX3EE3 1,046,189 0 1,046, 189
O2014E < 1,046, 189 0 1,046,189




2A: SAD
M NRES(SAD)(ZELXSINL/XSLEAI)
o BENIE CERE)
2 -3 A2(ZH) - MIRAR - BES 0| AkoH J|&oH Hins2t
— 22 HAS (SAAIDIKIE) SAIMAESE AN
1,022,509,293& * 14 1,022,510 1,022,510
— 2RI HAS (SAAIDIKIE) SAIMAMNE AN
(OIXH) 23,678,520& * 14 23,679 23,679






